The first program, controlled by [[J, simply clears the registers.
The second program, controlled by [fJ, accumulates each number
in R, and displays a running total. is used to count the num-
ber of repetitions in the group. Each time is encountered,
1 is subtracted from the value in R.. Since that value starts at
zero, the condition will always be met and the two steps will never
be skipped. The third program, controlled by [@. takes the aver-
age of the numbers by dividing the total by the number of repeti-
tions. Since the value in R is negative, its sign is changed before
computing the average.

Now switch back to RUN mode and try the following example.
Example. Find the total and average of the following group of
numbers:

65 .78 908 -345: "23 08

Press See Displayed

[A] - Initialize program.
65 B | 65.00 ] Running total.

73 A EEEEl Runningtotal.
908 @ | 1051.00 ] Running total.
345 @ | 1396.00 | Running total.
233 — Running total.
w@ EEEE rinol tol
- Average.

Flags

Your HP-65 also contains two flags which act as invisible switches.
You can set each flag ON or OFF. You can also test each flag to
see if it is ON (flying), or test it to see if it is OFF (lowered). The
keystrokes to set and test these flags are listed below.

1000000000000007

Keys Result

t [5] Setflagone flying. EG

£ [55] Lower flagone. TK

f [[C] Testflagone.Isitflying? These two pairs

' [[T1] Testflagone. Is it lowered? g;;?gg;g;ﬂi il

from the keyboard or

f [5°7] Setflag two flying. g} from a program.

£ [572] Lowerflagtwo. 2

£ [[F7] Testflagtwo. Isit flying?

#1 [[72] Testflagtwo.Is it lowered?

Eor each test made, if the answer is YES, program execution con-
tinues sequentially. And if the answer if NO, the program pointer
skips two steps of memory before continuing.

Isflag 1 flying?

] YES ( [H) then BT (6]

NO( @' ) then divide

skip two steps.

== gl ]

Note that a flag retains its setting until an instruction to change it
is executed.

Writing a Program Using Flags. The relationships between
speed, time, and distance for a moving body are given by the
following formulas:




